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[1] ¥APCB 37 %0.3 %0.9
[1-1]E8/ 7 oo 7 == ¥ 2.5 0.02 0.06
[12] Y7 o7 ==/ 17 0.05 0.12
[13] PV Zooe 7 == 11 0.04 0.10
[1-4] 7 T 7 uu b7 ==/l 43 0.03 0.08
[1-4-11 275 F—PCBD 9 5 3344-T FF 77 ==L (#7) tr(0.03) 0.01 0.04
[1-4-21 275 F—PCBD H H 34457 hF7 7t 7 ==L (#81) nd 0.02 0.04
[1-5] % 7T ==L 1.3 0.07 0.17
[1-5-11 27 FF—PCBD 9 $ 233 44- X% /ant 7 =)L (#105) tr(0.04) 0.02 0.06
[1-52] 2775 —PCBD 9 5 2,344,524 7nuab 7 =)L (#114) nd 0.02 0.04
[1-5-3] 27 FF—PCBD 9 5 23 445X Z/anbt 7=/ (#118) tr(0.11) 0.04 0.12
[1-5-4] 27T F—PCBD 9 5 23445~ 7x=/L (#123) nd 0.01 0.04
[1-5-5] 27 FF—PCBD 9 H 33 445X Z/ant 7 =)L (#126) nd 0.01 0.03
[1-6] ~FH 7o ==L4 0.80 0.03 0.09
[1-6-1]1 27 F—PCBD 5 233445 ~FY /a7 ==L (#156) tr(0.01) 0.01 0.03
[1-6-2] 2775 —PCBD 9 5 233 44, 5-~FH 7o 7 =)L (#157) nd 0.01 0.03
[1-6-3] 27 FF—PCBD 9 2,3 44,55 -~FH 7ot ==L (#167) tr(0.01) 0.01 0.03
[1-6-4] 27T 5 —PCBD 9 5 3,344 5,5-~FH 7ot 7 =)L (#169) nd 0.01 0.03
[1-7]~F %27 an b7 =/ 0.20 0.02 0.06
[1-7-11 2775 —PCBD 9 5 2,2'33' 44,5-~7 4 /au b7 =)L (#170) tr(0.02) 0.01 0.03
[1-72] 27T F—PCBD 9 5 2,2'344,55-~F 4 7nnt” ==/ (#180) 0.033 0.005 0.012
[1-7-31 27T F—PCBD 9 5 2,33 44,55-~F#7aut” =) (#189) nd 0.01 0.03
181 A2 %7t ==L nd 0.05 0.13
[19] /FZ7mu b7 ==/ nd 0.02 0.05
[1-10] FhZ o7 ==L tr(0.01) 0.01 0.03
[2]HCB (~¥H# 7o P) 110 0.04 0.09
[11-1] a-HCH 0.04 0.10
[11-2] f-HCH 0.03 0.07
[11-3]y-HCH (B%4 : VT V) 0.03 0.09
[11-4] §-HCH 0.03 0.08
[14] R) 7 uEY 7 2= Lo—7 LV (RFEHDBANHI0ETOHD) nd %1.4 %3.5
[14-1] 7 F 77 BEV T 2 =)L=—7 LI tr(0.3) 0.2 0.6
[14-1-1122'44-F7 570 EY T ==L —F )L (#47) 0.16 0.02 0.05
[142] X Z T €Y7 = =)Lt —F LI nd 0.05 0.12
[14-2-112,2 44520 # T 0 EY 7 = =)L —7 /L (#99) nd 0.04 0.09
[143] ~F YT aEy 7 2=/ —7 LI nd 0.2 0.5
[14-3-1]122'44' 55 ~F YT a7 ==Lz —T /)L (#153) nd 0.06 0.17
[14-32]2,2' 44 5,6-~F VT 0 EY 7 = =/L=—F /L (#154) nd 0.07 0.19
[14-4]) ~T BT aEV T = =)L —TF VI nd 0.2 0.4
[14-4-1]12,2'3,3'4,56-~7 X 70 ET 7 = =)L =—7 ) (#175) nd 0.06 0.15
[14-4-2]22' 3,44 5 6-~7 2 7 0EY T = =)LT—F )L (#183) nd 0.06 0.15
[14-5] 427 Z T 0EY7 = =)L o—F LI nd 0.1 0.3
[14-6] /7 eV 7 2= )Lo—F VI nd 0.3 0.7
47N THT7aEY T 2 =)Lo—TF )L nd 0.3 0.9
[15] ~v 7 vAuty 2o AR B (PFOS) 8.5 0.07 0.19
[16] ~v 7 A vaAs 2 (PFOA) 9.6 0.2 0.5
R L e 120 0.03 0.08
[19]1,2,5,6,9,10-~F 7 €71 K5 h 4k 1.1 %0.18 %0.48
[19-11 @-1,2,5,6,9,10-~F 7 aE 70 RFh 0.97 0.06 0.16
[19-2] 8-1,2,5,6,9,10-~F T a7 a RTH nd 0.07 0.18
[19-3]17-1,2,5,6,9,10-~F T aEv s a RF tr(0.11) 0.05 0.14
RI]~FH o7 H-13-DVx 2,800 [ 3,100 | 2,800 20 50
[23] BTN T 7 4 LM nd %400 1,100
[23-1] $iFAbT B 110 40 110
[23-2] iRk o 7 tr(230) 100 300
[23-3] aFEAL KT 0 4 nd 120 360
[23-4] iR b U T nd 110 330
[25] ~v 7 VA a o~ 2Lk Vg (PFHXS) 6.5 0.04 0.11
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